Efficiency vs dr

o
[od

efficiency vs AR

0.5

0.4

0.3

0.2

0.1

Ratio

[y
TTTT] T T

1y ' 1
—=— DQM_noFitZ T-PNasel-NEWgEo

3

[
—e— DQM_Fit2_step2_ttbar- phasel newgeom
—— DOM F|12And8 EGeneric_step2_ttbar-phasel-newgeom

P
.| —— DOQM_Fit2AndCPETem Iate step2 ttbar phasel newgeom

B

- 1072 107 1
TP min AR

[ Efficiency vs dr (track,jet) |

§0.05
.045
£
%0.04
9.035
>
20.03
Q
i15=6.025
3]
0.02
0.015
0.0
0.005

107 1072 107

AR(TP, jet)

0 55 60 65 70 75 80 85 90 95 100
Pileup



	Contents
	Page 1


